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PART - I1I
suenfllasds senflsn/ BUSINESS MATHEMATICS

(50D wHmb pmdle el / Tamil & English Version)

Cmwirid : 3 e ] [ Qg wHUEuaTSET @ 200
Time Allowed : 3 Hours ] [Maximum Marks : 200
SAdleyenrast : (1) Smansg elamsseErn sflwrs udeurd o 6TeTST 6TeLISem 6

sflunrsgs Qamerereyb. <FaiuHeled @Gampulmuiler si@ns
sansrasfiviumerflbd o Langwrss Csflellésan.

2) Beod oeg sSmuy ebullmar LLEHCWL ETWgMSDEGD,
S 5CaTEHeusnEGL LweTuBESs Ceuas®bd. UL RS uamyelsSnE
Quenfled LWaTUHFSALD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack

of fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

UGS - 3 / PART - A

GSnly @ (i) &m'mé,g,j efler&aEsEL e wellssa . 40x1=40
(i) Ger@ssiul L mreg, el saild Basayb ghuew el _ulener
Coimbs0ss @GPl BLer el ulmanbd Gaisg) GT(Lp55. -
Note : (i)  Answer all the questions.

(ii) Choose the most suitable answer from the given four alternatives and write
the option code and the corresponding answer,
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0 2 _ '
1. (2 0) -@en Cairiiy ojanf :

(a)(ﬁ 2) (@) [_02 HOZ] (@ [é 2) () (g 3)

The Adjoint of (2_ 3) is :

20 0 -2 10 0 2
(a) (0 2] (b) (_2 0] (© (0 1) (d) (2 OJ

2. A Greiﬂugj 3 auflans 2 cirer #8517 <yawfl erafed |Adj A @@ﬂ &l :

(<21) |AP (=) Al (@) [P () |AF
If A is a square matrix of order 3 then |Adj Al is :

@ AP o) A © W @ K

: = .
3. A=(§ 1)6T66ﬂ6DA_1A ]

(1) 0 () & @ . (m

@ 0 )y A (© I d A2
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@euQeurm 2 mitib 1 <6 2 6Ter nxXn Saflufar Sy :

(=1) 1 (<2)2

(@) n

The rank of an n X n matrix each of whose elements is 1 is :

@ 1 (b) 2

|A|=0 erafled |Adj A| - Sl :

(<=1) 0 (<2)1
If |A|=0 then |Adj A is :

(a) O OB

y?=dax @)ar QFeIeUF@LD :

(1) 2a ()32

Latus rectum of y2=4ax is :

(@) 2a B s

x2=4ay @67 QUGG :

(cﬂq) x+a=0

Equation of the directrix of x*>=4ay is :

(a) x+a=Q (b) x—a=0

() x—2a=0

() n

(&) 4a

(@) y+a=0

(c) y+a=0

www.TrbTnpsc.com

8628

(d) n?

(rF) =1

d =1

(d a

(@ y-a=0
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: v . 3
P HereulLsSen = eranad, s GHpiden Herd 2 erameyld

S\DEDG). g6 QpLLFflar B :
(1) 4 (2)5 (@) 8 () 10

. 3
In an ellipse e = 5 the length of semi minor axis is 2. The length of major axis is :

ﬂ(a) 4 (b) 5 © 8 () 10

x2;*v._—400y -6t @6SlwLD :
(1) (100,0) . () (~100, 0 (@) (© 100 (%) (0, —100)

Focus of x2= —400y is :

(@) (100, 0) (b) (-100, 0) (c) (0, 100) (d) (0, —100)

x -l Qurmisg) y -ar rmIeiSD 6 SED. x - eg) 4 SIOGEET/ ey, erém
6‘9555.‘35]5"’ rnEng erafled y opang 1 eflanmqdi@ wrmn Gﬁg;mrrmg,] .

(=1) 24 (<) 10 () 2 (FF) 22

If the rate of change of i with respect to x is 6 and x is changing at 4 units/sec, then the
rate of change of y per sec is :

@) 24 (b) 10 © 2 (d) 22
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11. C=4x-6x2+8x+16 erepid amimQer syraf wrprd Qe :

4 -6 8 16
S (@) 5 (@) = (%) =
The average fixed cost of the function C=4x*—6x%+8x+16 is :

4 -6 32°8 16
@ 3 e Ul

|

12, y=x3crénp cuaneTaua & (2, 8) erapitd Lataflufed QenHGHrigen FmiciTeg) :

(1) 3 ()12 (@6 (w) 8
The slope of the tangent at (2, 8) on the curve y=x%is: | |
@ 3 (b) 12 () 6 (@ 8

I

A

13. y=2x2-x+1 eranp euaeraur&@ (1, 2) eramp yarefluded euenyuiliiiL
QsrHCETE, T GariigMHE @amemuns QmEED ?,
(1) y=3x () y=2x+4 (@) 2x+y+7=0 (m) y=5x-7
The tangent to the curve y=22%—-x+1lat(l,2)is parallel to the line :

(a) y=3x (b) y=2x+4 () 2x+y+7=0 (d) y=5x-7

14. y=x2—logx GTaM) GUAMGTAIMES x=2 -@ Qar(HCariyer smie, :

7 _2
(@) 2 () 2 (@) ~3 (®) 7

The slope of the tangent to the curve y=x2—logx at r=21s

IS

(a)‘Z‘. © (b)
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16.

17.
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6
u=e* +y2, erefled g% DN :
(=1) y?u (=) x2u (@) 2xu (FF) 2yu
If u=e* +y2,then L is equal to :
ox
(@ yu () x2u " (© 2xu (d) 2yu

flx, y)= A +y/ GTEILh ermqu_rgg,rrm erimlen Liquireng) :
(1), 3 DI N 9) - :
2 %) 3 @) ¢ () 3
f xyz'+yy isah . '
(x, y) 7 +yy 1s a homogeneous function of degree :
1 1 1
@ 3 ® 3 © 3 @ 3

Qmé& BHlenew eumeumi T 25, Gogyd sﬁlscnsumu_nu QurmSs| @{g@m GaeneuuQar.
QBADEFS 2 erafled, syrafl eumeurwTang) :

(é{) ?50 ()% 25 (@) 27 (F) T 12,50

If marginal revenue is ¥ 25 and the elasticity of demand with respect to price is 2, thén
average revenue is :

(a) 250 ® 25 Q @ %1250
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18. Qoo Famiy y=40—4x+x2 erlGumps Smio w@ﬁe‘mu SlemLb ?
(@)x=2 (@)x=-2 (@) x=4 (%) x=—4
The cost function y=40—4x +x? is minimum when :

(@ x=2 b) x=-2 € x=4 . (d) x=-4

5
19. J.(xs + 5x° +3x) dx= .. .. Vot bl 1B LT Te

-5

(=)0 (<) 2 (@)1 @t () =1

5
J.(xs +5x> + 3x) dxis:

-5

(@) 0 (b) 2 | © 1 d -1

20. y=zx,y 2i&& O y=1 arayd Carhisemmad e uBL uruy :

()1 ()7 (8) log2 (w) 2

The area bounded by y=x, y-axis and y=1 s :

(a) 1 (b) % () log2 ) d) 2
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21. @Qmél Hlerew eumeumis gmiyy MR=15-8x erafldd QU(RGUMLL &L :

(=1) 15x —4x2 + k (<) 11—5 -8 (@) -8 (FF) 15x-8

g
The marginal revenue of a firm is MR =15 —8x. Then the revenue function is :

(@) 15x—4x%2+k (b) E—8 ) -8 (d) 15x—8

X

22. of aflF Qeand CrisCar@aafen uamnas0apF Fwerum@ :

dy _ dy _x dy dy 1
() rgr=y (@) Ty @ 0 (W Tg sy
The differential equation of straight lines passing through the origin is :
dy _ dy _x dy dy _ 1
@ x5, =Y ® "y @ g =0 @ *a&~y
23. % =ke ! (k gqp wrdladl) -ar Sirey :
c- = =p =ket+ t=log <P
(=) €~ (<) p=ke'+c (@) t=log——= (@) t=logp
The solution of % =ke™ (kisa constant) is :
(a) c- = =p (b) p=ket+ t=1log =P
o p=ke‘+c (c) = log K (d) t=logp
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x —= —y=e"-an QgrensuS_(H& smyenf :

dx

(1) log x

e -1
(=) ¥ (@) < (%) &

The integrating factor of x % —y=¢"is:
-1
®) o © 3 @ =%

(@) logx

9—21 -5 dy +6y = F aTann UMSSOHWYE swerL g6 ApLilg QgTens

dx? dx

e5x.
(=) &

5x e5x

(<) =, (@) 6™ (™) %

2
dy_5éz+6y=e5xist

The particular integral of the differential equation 2 -

E? f(x)=
(1) flxth)
2 (x) =
(@) f(x+h)

= 6 e @ =
) (€ 6e -
(<) f(x +2h) (@) f(2h) () f(2x)
(b) f(x+2h) (¢ f(2h) (d) f(2x)
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27. h=1 eraflé A(?) =
(<21) 2x (<) 2x-1 | (@) 2x+1 () 1
When h=1, A(x?) =
(@) 2x (b) 2x-1 (© 2x+1 d 1

28.

29.

R $NlEs Fweumiiliy wrdufen BDspsses Heamog ey :

x-10 123

p) | 2k [ 3k |4k [ 5| TN k -e oy

Ao\ 5 4 1 | 2
(D) giid Y Eprul VA (@) 77 () 12
If a discrete random variable has the probability mass function as

E 10 111210 fen the value of ki

o) | 2k [ 3% [ 4k | 5% en the value of k is:
5 4 1 2
@ ® 1 © 1 @ 1

X, Y erevim FweumiliL) r&er sriuppenel erafle :

| (1) E(XY) =1 ‘ (a;,) E(XY)=0

(@) EQY)=E(E(Y) () E(X+Y)=E(X)+E(Y)
The random variables X and Y are independent if :
(@) E(XY)=1 () EXYV)=0

(©)  E(XY)=E(XE (Y) @ EX+Y)=E(X)+E(Y) ’
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X @@ umierer wril whmb PX=1)=P(X=2) eralld, @iger grrefwurag :

(#1)1 ()2 @) -2 (") 3

L ilsta Poisson variate with P(X=1) =P(X=2) then the mean of the Poisson variate is
equal to :

fa) > 1 (b) 2 © -2 d 3

gweumutiy X -er Blspsse|ls e

X -1 -2 1 2
) 1 1 1 1 L AR
p(x) 3 = =" o Greoﬂwx 2y erdlrunisgsenang).
3 1 1 1
(1) 5 () ¢ @) 5 (") 3

If a random variable X has the following probability distribution

X

-2

1

2

p(x)

W | =

L
6

1
3

then the expected value of X is :

(c) (d)

N
W=

—
joi]
N’
| w
G
j
N

&CnAUY wperp ersary it uiled Qewdu@dng ?

(1) &m s1emay () &m0

(@) yerefulwe gpermenio (FF) pperws QsrEd oemay
The theory of sampling is based on : |
(a) sample size (b) sample unit

(c)  principle of statistical regularity (d) population size

[ $pliys / Turn over
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12
Z -8 1% ool Hrrsuyl uss :
(=1) |Z|<1.96 (=) |Z|=2.58 (@) |Z] < 1.96 (/) |Z] > 2.58
The critical region for Z at 1% level is :

(@) |Z|<1.96 (b) |Z|=2.58 © 2| <19 (d) |Z| > 258

f

mga&a;gg;a;s; a@@s;rrm Q_emsmmu_lrr&s @@gb@ ;F;]grra;rﬂasa;uu@mgm@lﬂu-!
Plspssa, :

(<21) s cuensly Qenrp V() @raTLmd euenaED Gentp
(D) #CpELLL Geyp (m) S Qe
Prpba?iﬂlvi,typf rejecting the null hypothesis when it js true is; . -

(@) TypeIerror (b) Type Il error '

() Sampling error | (d)- Standard error

10 perGaurirseaiadmba 2 gjesn(%amrra;mmg Qg;rﬂa; @EU_IU_{LD G.JL&a;Grﬂem
eTTENT & En; : i :

(=1) 90 ()60 - (@) 45 ~ () 50
The number of ways in which one can select 2 customers out of 10 customers is :
(@) 90 (b) 60 (c) 45 (d) 50

BerLame wryur’ GLer QsriymLw srobsrr Ogri euflensulen GEY
Qemalporm epssliuBEng) :

(1) &lpnd wrmur® (<) BeT sTels CuTsEs;

(@) &Froo wrmyur® () Cupsear_ omeadgih

The component of a time series attached to long term variation is fermed as :

(@) cyclic variations (b) secular trend

(c) irregular variation @) o all the above
http://www.trbtnpsc.com/2014/12/plus-two-12th-old-public-exam-govt.html f
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G &1 ghHn @nsshismers Qsram. ST ST QgL euflengulem ¢(m
Gl GTEILIZ) :

(1) umeusTad WwIYLTE (<) &pné wryur@

(&) &rpp wrmur@ () Cunser. oameiggiD

The component of a time series which is. attached to short term fluctuations is :

(a) seasonal variation (b) cyclic varjation

(c) irregular variation. (d) -all the above

BeULDLIT (Pge) rTF euenyullaren Sraddd mavdfd elhuamar ojareller ailpss)
QsCer(h GgrLiiy Qaream_gm@L :,

(<21) U(meu LDHQ]LJ[I’@ ' . (=) spndl wroyurh
(@) &rop wrmur@ (/) e asrels Curse
A decline in the sales of ice cream during November to Maxch is associated with :

(a) seasonal variation (b) cyclical variation

(c) random variation (d) secular trend

@l Hpays Qaupelen Gr_ai)ma)q;sh:

(1) 0 @b Q(BHGI * Guay () — @ Qmbai ey
(@) -1@a @@E@-l.mmv (F) Qeundléd ergiflcrena
The range of correlation co-efficient is :

(@) Oto | (b) —ootooe

() —-1to1l (d) none of these

[ Hmliys / Turn over
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40. X wpmid Y eremuer @ wrilsQerailer ofsul s Q(m&EFS ganlgwig)

(<) @m Qemiyl @urre'r,@ei; Cair(®

(=) Qs QsriyL Gurégs Car@daar |
(Q) ewermy QL) Cursgs Car@ser
() Qaupdld ergovene L

If X and Y are two variates there can be atmost :
(a)  one regression line

()  two regression lines

(c) three regression lines

(d) none of these

LGS - &)/ PART - B

GO : sremaCuenid LSg eflaésEnse WL e weféssel b,

Note: ~ Answer any ten questions.
-1 2 =2 i
41. A=| 4 -3 4| erafled A -ar Grirorm A sre erenim) &T_(Hs.
4 -4 5 :
-1 2 -2
If A=| 4 -3 4| show that the inverse of A is itself :
4 —4 5
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20 =3y +4=0, 5x+2y-9=0 eremm swaTUTHEeman Arrwfear alfewis
Lweiu®hsS Sréaeyib.

Solve the equations 2x—3y+4=0, 5x + 2y—9=0 by Cramer's rule.

weranser (0, +5) wHmbd Gewriger (0, +4) eeLw Hereul L FSl6r
FOGTUTL L& STes.

Find the equation of the ellipse whose vertices are (0, =5) and foci are (0, +4).

x SG&HT 2 pusdlssrar Qurésé Qswe C(x)= 50+5x+2\/_ erail v,
100 Sie@SaT amug@a;a;rrem (@Q@ Blenad Ceawey wrg ? RS

The total cost of making x units is given by C(x)=50+5x+2+/x . What is the marginél
cost at 100 units of output ?

x -an erbHILSERHE y=x3+21 erayd Frmled ¥ oHlaflsEn Qureps y
<Lang SengliGUme 75 L EIEG Siflsf&En ?

For the function y=x3 + 21, what are the values of x, when y increases 75 times as fast
asx ?

u= log«lx2+y2 GTGotled
2
) (ou 1
(-a;] + (——) = — 5 eran Hlmeys.

oy x“+y

Ifu= log\/x2+y2 show that
(au)z auY 1

_ + | — =

ox oy x% + 12
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| ) | |
Y. 80 Boaasddar @ndfios aimanis sy MR = 1‘3@ +x + 22 erafled Sigen

QUMEUTIE FTTeDLIG &Tetsa;,

. X
If the marginal revenue for a commodity is MR = £ 4 x+x2, find the revenue
100

function.

48.  p(x, ) eremp HeTarluil &g e(m euanereuanyuler &Mi6] 3x% +2 <Y GLD. GUENETELGIT
(L =1) euflé QeedgiQaies eisear swaTLM eLé srdms.

Find the equation of the curve whose slope at the point (x, y) is 3x2+2, if the curve
passes through the point (1, =1).

.. d
49. $igs Ey +ycosx = % sin2x .

dy 1
Solve : —= + = = i
qy ycosx > sin2x.

50. Wemeupid efleurmisamard Qeram® N UL 2 MLIDUS Sreims,
X 1 2 3 4
f) : 100 — 126 157
Find the missing term from the following data :
bR 1 2 3 4

f(x) : 100 — 126 157
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Qsr@asturerer edaurismens Qaran@®, @esrmensluier &SI rHo5U
Lwetu®SH x=5 erafléd y -ar wHlimus sras.

1 | 2|3 |4]|7
y | 2|4 |8 |16 128

Apply Lagrange's formula to find y when x=>5 given that

4 8 | 16 |128

]

SpssarL Baspssa uragssrar E(2X-7) wHmib E(@4X+5) @pdweupmen
HILSEHETE HTEiTs.

X: -3 -2 -10 1 2 -3
p(x): 05 1 3 0 .3 .15 .1
Find E(2X—7) and E(4X +5) for the following probability distribution.
X: 3 2 -10 1 2 3

px): 051 - 340 3Was .1

o @uafae pwens CsTESddpbs TdssULLL Siama) 50 Cara
g emlan gymafl 67.9 @D, &) grrefller S (b9enp /0.7 erang Qsflw
QUBSTED, (P(PELOS Qem@Hudan syrefsamar 95% BLo9sma @enL Gleuafanis
HTCOTS.

A random sample of size 50 with mean 67.9 is drawn from a normal population. If it
is known that the standard error of the sample mean is./0.7 , find 95% confidence
interval for the population mean.

[ Hmliys / Turn over
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54. 1999 - Yarel IgliumL LTSS G]esrrsm@ 2000 - c%mmrﬂ)@
Qemeumid efeurrisanets Qaran(® Quorsss Ceaay wpapuiled AUTDEMES SIS
GO CL_anenens srems.

Glummeir iera (&) ey
1999 1999 2000
A 6 5.75 6.00
B 1 5.00 8.00
C 6 6.00 9.00
D 4 8.00 10.00
E 2 2.00 1.80
F 1 20.00 15.00

Construct cost of living index for 2000 taking 1999 as the base year from the following
data using Aggregate Expenditure method.

) Quantity (kg) Price
Commeptly 1999 1999 2000
A 6 5.75 6.00
B 1 5.00 8.00
C 6 6.00 9.00
D 4 8.00{  10.00
E 2 2,00 1.80
F 1 20.00|  15.00

55. u@GdF ermefl (peD epold Epssar ellelTmsEESE Gurée waHlysener
gaT (01 1q.556LD.

oy : 1980 1981 1082 1983 1984 1985 1986

edpuenen : 102 105 114 110 108 116 112

Fmd trend values to the following data by the method of semi-averages.
Year : 1980 1981 1982 1983 1984 1985 1986

Sales : 102 105 114 110 108 116 112

http://www.trbtnpsc.com/2014/12/plus-two-12th-old-public-exam-govt.html

Scanned by CamScanner



www.Padasalai.Net www.TrbTnpsc.com

19 8628
u@S - @ /PART - C
GOy : aGsaib Lss eflanmméaenss wl (i edowelésayL. 10x10=100
Note : Answer any ten questions.
1 -1 1
56. A=(2 1 1 eTeiI <o|amilé@ |Adj A =|A[2 GraLIenGE FHlLMTéESE.
3 1 -1
1 -1 1
Given A=|2 1 1| verify that |Adj A|=]AP
3.1 -1

57. P wpmibd Q eramm @) Qzrfberenevsaian Qurmerrgry ewlibd Csameu
oD Stefliiy eeurmiser 6 (Weoedwear mumiseied) sriul (Hearerear.

2 b Huimart &u}fﬁmn@ﬂ@;m‘r Lmdls Caaau |CoTss 2 HLIGE)
Rk 16 - 20 4 i 40
Q 8 40 32 80

Pmdls Csmeuser P, 18 ysa|b Q, 44 &6 b WTMID ,Gung,j é{@ﬁ)@c&r
Qeuclluhamers smams. '

In an economy of two industries P and Q the following table gives the supply and
demand positions in millions of rupees.

: User Final De d :
Producer : an Total output
: ‘ P Q
P 16 20 4 50
Q" 8 40 32 80

*Find the outputs when the final demand changes to 18 for P and 44 for Q.

¢
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22450y + 22~ 11~ Ty —4=0 eremp UeueTLISS e anmw@@gn@(ﬁm@aaﬂ@
FWETUTHHMETE &Tas.
Find the equations of the asymptotes of the hyperbola 22+ 5xy + 2y2 ~11x—7y—4=0.

2
. \otx
u@meumw, ngm wHmL Qerus soearur@ser panGu R=_800x — 0

C=40x+5000, P=R-C. @@ geabeunm wrssdab 2 HLSS Q&u‘_lu_ll;ll_ll_'_l._
* so@aar aipsluupHapar. o Hhusd wrssHng 100 SIGSET 6ig
& 08mgl. 2000 e EseT 2 HLGHES (i) eumpeumi (i) Qseey (iii) @eomuid
wereupder wrsmbdy wrm SIFRIGDETE STETS.

2

Given are the following revenue, cost and profit equations R = 800x — 0’

C=40x+5000, P=R—C, where x denotes the number of units produced and sold
(per month). When the production is at 2000 units and increasing at the rate of
100 units per month, determine the instantaneous rate of change with respect to
time t (in months), of (i) Revenue (ii) Cost and (iii) Profit.

f(x)=3x"-25x3+60x+1 eranm &TTLGEE [-2, 1] eram @Gﬁ)L@QJG[ﬂUQdJ sl
(ppsemredit) Quem wHMLD Ao WHULSMmTS GTaTs.

Find the absolute (global) maximum and minimum values of the function

_f(x)=3x0—2523+60x+1 in the interval [-2, 1].

61.

@ Hneuanssmt e BsTGammHEE @ Gurmear <6 HiéE 12,000 e @Gs6T
<efliiy Qeliflpri. Coeneu QsMBEsg LOHDID WLIPTSF GW. GoDUTHSEET
sgwdssiiupaudome. Cesss Dsaway e LIFSHDEG RH ADGEES

20 epusTESET. GAHTHSE Qe @@ @LLsHNE T 350 erailed,

@ 0@ BsmwsE CHNHSW =lermey
(i) 2.8 &T JeTe] t
(@) eumLmBAr Amio wrmib Qe Ywuaeapons srars

A manufacturer has to supply 12,000 units of a product per yeaf to his customer. The °

demand is fixed and known and no shortages are allowed. The inventory holding cost
is 20 paise per unit per month and the set up cost per fun is ¥ 350. Determine

() the optimum run size q,
(i) optimum scheduling pefiod t,
(ili) minimum total variable yearly cost
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UDILNISS Asravstar Larysmer LLETLRSE EpssaT. Qsrasude
WAL s,

J:XQ’ _ dx
m 1+ Jeotx

Evaluate the following using the properties of definite integral.

[ =i
1+ Jeotx
%

Gaemaug ity py=16-2x whHmb salliys ey ps=x2+1 erafled, elwrumys
spoguilen swrer Haowtar S e pusHurert wHmb HETCMMT
CTEFLILIT(DEHENETE &TEHTs. »

The demand and supply function for a commodity are pq=16-2x and p,=x2+1.
Find the consumers’ surplus and producers’ surplus at the market equilibrium price.

Sités  (D2+14D+49)y=e~75+4

Solve : (D2+14D +49)y=e~7%+4

Qar@ésiur(erer elleuriisesse @ CoisGsr® Gunmiss.
x:. 4 8 12 16 20 24
y: 7 9 13 17 21 25

Fit a straight line to the following data :

x: 4 8 12 16. 20 24

y: 7 9 13 17 21 25

[ Q@Lﬁjqa; / Turn over
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ARG f
s . . . . . . 0 . . . Gﬂ . ﬁ%@ﬁ]&&)&g gv’"g.
66. &t @UEOBIHET @ e gHURSSID alubgisaeniar 1000 LS

3 2 LW umiemer uFeuaaLls Ger Qaridpg. s L OB

() @f Qaryd m elusmss sl gHURSETS

() @f @&mge 3 -&@b CupulL alussssd SIOIC L
s @l Opireafldn eramanfiEmaens CamymuLDTss HTETS. [e=3=0.04979]

drivers in a city follows Poisson
number of

3=0.04979]

The number of accidents in a year attributed to taxi d e
distribution with mean 3. Out of 1000 taxi drivers, flr}d the gpprcéfrlné €
drivers with (i) no accident in a year (i) more than 3 accidents in a year,

g ' D &6 51 eqLLLD
67. @m Qsmipsrae 2 HusH Q&g @u_ig@gl FLPE g,mg.gsaﬂmm A
@QuidBlenell LIS > GTeNg). FHLHE sem(Hseme 31%.45 . .aa@a? ) m& Gb
oL sangib, 8% 64 ). 18&@ Guere aﬁh;l_g,smgpym @tgsrrmr@mmm. Lo
sampaaiar oflLsler gyraf wpmb Sl Nl@EELD HIETs.

Z 05 | 141
uptiy | 019 | 042

i : 1 distribution. 31% of
i f shafts produced in a factory conforms to norma :
rtlg;esf:frtr;e;?vg aS diamgter Jess than 45 mm and 8% have more than 64 mm. Find the

mean and standard deviation of the diameter of shafts.

Z 0.5 1.41
Area ‘0.19 0.42

, [N Armossle o drereuirseflen grmefl eupmabd I 6,000 WHMILD
o @([Zu@u 7 32,400 %@Lb. L @J@mnaﬂu’) T 5,950 crens QameTL 64 ;bufr&;eir
wuga‘s‘z s GO DPS PUPOS QsrES S mHs QUDUILCL T erer 5%
éi . . . ‘s
HOID 1% PEAISSI Hlepasailed Gerd&sed.
he i distribution of the p(.)pulation of a village has a mean of ¥ 6,000 and a
The income

i d a sample of 64 persons with a mean income of ¥ 5,950
‘};a1r lancfoot;fs C;%é?&ﬁgﬁgl ("l?est ateboth 5% and 1% levels of.significance).
elong
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Aemaimid aﬂm“’él&@&@ RULHPeys Qseaneuds samsdl(Hs.

X |10 {12718 22 [23 [ 27
Y |13 |18 12125130 | 10
Find the coefficient of correlation for the data given below.
X 10121824 [23 [ 27
Y [ 13718 [12 [ 25 [30 |10

8628

@euCeuranmid wiaray 5 2 der LG spsaiar spref wHMLD eféssdT LPHL
elleurisar £Cp Qsr@ssiiun Gararar. gyref wHmD $&8s UL BSE5HSTE
wSHwWE GCar@ wHmb sl Guurl.@é Car@asaiar aomosmeTs &ar(
Qewdur® s @rium e 2 aransm erenm Henr(hidly..

8

Fa.MISET 1 2 [ 3| 4|5 | 6|7 9 | 10
grmefX | 11.2[11.8|10.8|11.6|11.0| 9.6 |10.4| 9.6 |10.6|10.0
ad&a (R) 7 4 8 5 7 4 8 4 7 9

(n=5 erafld A,=0577, Dy=0, D,=2.115 erann QsrR&sLILLDaTons)

The following data shows the value of sample mean X and the range R for ten samples
of size 5 each. Calculate the values for central line and control limits for mean chart

and range chart and determine whether the process is in control.

Sample no. 1 2 3 4 5 6 7 8 9 | 10
Mean X 11.2|11.8[10.8|11.6 [11.0| 9.6 |10.4| 9.6 |10.6 | 10.0
Range (R) 7| 4|8 |5 |7 4|8 4| 7|09

(Given for n=5, A= 0.577, D=0, D4 =2.115)

-000-
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